11
211

2.1.2

2.13

2.2

1.3

131
1.3.2
1.3.3

2.1

2.1.1

2.1.2

2.1.3

2.2

221

2.2.2

2.2.3

Test 2: Exponents and surds [51]

Question 1
Simplify each of the following

V1082 ++/243x12
Solve for x : 2% =./8

Solve for x if
9x2+x = 27x+1
2x+1 + 2x+2 = 48
32% —33% = -2

Question 2
Simplify each of the following:

V128x6 + V98x°6

Show that = + 2 can be written as 22X+
x Jx x

Simplify:

3Y/18-/50
2\72

24/18—/32
V8++2

V75-V18
Viz

(3)
()
(3)
(3)

()
()
()
[29]

3)

(3)
(4)

(4)
(4)

(4)

[22]



